4.

2.

‘sig’ 7d 9| % forg ToF § TN S & 2
(1) W

(2) SWI

@ =

(4) RS
(5) TR el o = |

Wﬁﬁmaﬁmﬁmwgﬁ?

(1) 1950
@ 1947

(3) 1951

(4) 1930

(5) SR A |

CE QTR :

3.
) e TReie

) FET T
(3) g
Fre 3TE o<

4
3R TEF o1 e |

(5

mﬁwmwmm}ﬁ@ﬁw
gamﬁmumﬁmam%?

2 e adweE |

(3) w4 faem SAfEH

(4) Hfeen FEEA

(5) I & AR |

4 (MAA) 10 1 faegd B9 1 & ?

(1) =7l e (T U are)

(2) i farmie (W e ST

(3) el 3 mfed o W T (e
RIESTI STHIT STEeTHe TeH) 4
(4) 7 Hgof IR (e T )

(5 3 T &A1 A | ‘

d. Which one
| programme
chools to provide children with

ﬁwﬁ—rﬁaaﬁ@ﬁw—mmﬂwmﬁﬁlﬁmm *;f' Y

‘

Bihu’ festival is celebrated in whicy ,
ndian

State ?

(1) i jab

(2) Uttar Pradesh
(3) Assam

(4) Karnataka
(5) Not Attempted

Which year did India attain freedom ?

(1) 1950
2) 1947
3) 1951
(4) 1930

o) Not Attempted

‘CE’ refers to :

(1) Common Estimate
(2) Common Era

(3) CasualEra

(4) Coast of Egypt

(5). i Not Attempted

of the following refers to the
introduced in all government

elementary S
cooked Iunch ?

(1) Mid-day meal

Beti Bachao, Beti Padhao

(2)

{8 Sarv Shiksha Abhiyan

4) Mabhila Samakhya

(5) Not Attempted

What is the full form of ‘MAA’ programme ?

(1) Mother’s Absolute Attention

(2) Mother And Adolescent

(3) Menstrual hygiene Among Adolescent
girls

(4) Mother’s Absolute Affection

(5) Not Attempted
Page 2
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R —

6. et wi e w2

¥) 8371 f&.
(2) 9371 fe.t,
(3) 2371 f%d
(4) 6371 foh,
(O) I & 21 91 |
) TEERm
(2) T
(3) ey
4) SN
(5) ST TR o = |
8. TOF YRA F Y MR- & &9 § fHaiy
fopan 2
(1) TER FoasE w2a
W) O S
(3) SO A TE®
4) = TS
(5) SW TR o1 IR |

9. ‘fafewr yra =1 sfoer’ T % oEE PH T2
(1) SRFsEm

@) IS OseEed

(3) <€ FuA

(4) <= fae

(5) IR A <A1 9Rd |

10. =9 2014 H 94 €T ‘ AfYTH F5uY FIREA R

¢)  Trafed S & THE T STE SRR ST
et Ted g2 M a1 [EAferd HE |

(2)  TTHYOr STEEA % TRt qe oy e
Ferd ye™ A |

(3) =ifad sl @i fo1en ygH HE |

(4) el =t faf= R #1 sewahas &1 g
¥ ST, e qe ard geH H |

(5) S &l &A1 = |

10.

?
What is the radius of the earth

(1) 8371 km
2) 9371 km
(3) 2371 km
4) 6371 km

(5) Not Attempted

' s
The earth is surrounded by 2 layer of gas€ |
called :
(1) Environment
(2) Atmosphere
(3) Climate
(4) Ozone E
(5) Not Attempted ;

Who served as free India’s first Gove
General ?

(1)  Sardar Vallabhbhai Patel
(2) Maulana Azad i
(3) Jawahar Lal Nehru
(4) C. Rajagopalachari
(5) Not Attempted

British India’ ?

(1) Warren Hastings
(2) Lord Mountbatten
(3)  Lord Cﬁr%“"ﬁ
“4) James 111 ;
(5) Not A\tt ‘

2014 is: ‘
(1)  To .cousn chlldren w
partially or not vace
routine immunisatia
(2) To provide afford
healthcare to the rur.

(3) To provide educau
children,

(4} To provide informatj
and service to meet
adolescents.

(5)  Not Attempted

\
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dd.

12.

3o, g qo gfeao - @ yErel &1 EY A &
fFoTmag?

(1) 7T90d

(2) sffeem

(3)

Ny T

(5) I AR <A1 9 |

" Frefafes o | frat w wa R, ol st
H e S § 2

11.

12.

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1)  Gujarat

(2) Orissa
(3) Kerala
(4)  Punjab

(5)  Not Attempted

‘Lqua’ is a kind of which one of the fol
that is worn in Chhattisgarh ?

(1)  Dupatta

lowing

N T = (2)  Ornament
(2) SMmET (3) Footwear
@) S (4) Saree
@) == (5)  Not Attempted
(5) W E < A
13. Where is Jamia Islamia University situated ?
13. el swentaan favafaemem wef srafem £2 (1)  Bhopal
(1) <= (2) Delhi
(2) feo=it (3) Lucknow
3) TETS (4) Aligarh
& m (5) Not Attempted
(5) SR Tl <A =R |
, 14. World Environment Day is celebrated on :
14. fove wieor feem wmn sma s (1) 7 June
& 7 (2) 5t July
@ 5w (3) 7t July
@) 79 4) 5% June
(5)  Not Attempted
4) -S533
(5) 3T & = | 15. As per Census 2011, the literacy rate in India
i8
15. SIUAI 2011 F SAR, YRA F1 H&d <L (1) 78.0
W 780 (2) 88.0
(2)  88.0 (3) 83.0
(3) 83.0
4) 73.0 e 73,8
(5) IR T = | (5)  Not Attempted
VNATH / E1
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16.

17.

19.

[n the year 2016, the Govern
initiated @ mission called
which & proper Sewage disposal

started:

(1) EREEE

2) gwachh Bharat
3) Namami Gange
(4) dai

causes beri-beri

in

onent given
' in

mbol given

&

16. T4 2016 H WRA TEHR
S et e 1 e 1
& e o B
(1) 38H
¥2) W= YRd
(3) iy
4) SSEen
(5) ST TE = =R
7. = F=i ¥ T 4
(¢ o= B1 -3 ST 8
(2) feef = c
(3) fa=f=ma D
(4) foefEa A
(5) SR T 2 =R
18. W - I e T3 forga syl i1 ¥ - 1 7 U
ST T § e FI -
wy-1I
(A) Toz@ o= 0
@) ‘s feafa | fem
[©) | FSEdes i) i
(D) Fd V). —{
Hﬁﬁmgﬁﬁ
(1) (A)-(11, (B)-(0), (C)-(11), (D)-(IV) #
(V4 (A)-(IV), (B)-(1); (C)-(11), (D)-(111)
(3) (A)-1V), (B)-(1), (C)-(11), (D)-(1)
4) (A)-), (B)-(11), (©)-(111), (D)-(IV)
(5) e &l &A1 =red |
19. aﬁﬁmﬁwﬁmwmmﬁami GIlEGED
WWWWWWWW% A1 76
it T 7 T | e A FEAdl ©
) eEfarEd
(2) FE=EA
(3) fA=ET
(4) I
(5) I 72 21 =T |

VNATH/E1

o @1l 3 ferw 21 | SPACE FOR ROUGH Waﬁk :
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|

20.

21.

22.

23.

24,

VNATH / E1

TETATA 1 TH,3E, THTE 0 @ 2

W facinm

(2) U3

(3) °TsH™

G

(5) S TE A TwA |

FUeEfed A’ M w1 FRm S

(1) faumy

(2) <hdeh

) Ehen

(4) Sfem

(5) S TE 1 AEA |

Fretfeia = fem X -

(D (m)

(A) TIEd ()  HHSR G
B) dEE () sfemM
(C) TEm (I11) =it
(D) fomdt & (TV);5 5

(1) (A)-(m), (B)-(11), (C)-(), (D)-(IV)
(2),  (A)-(IV), (B)-(1I), (C)-(I11), (D)-(1)
@ (A)-), (B)-(ImD), (C)-(IV), (D)-()
(3  (A)-1), B)-Iv), (C)-(), (D)-(I)
(5) S E T =R

a9 EGEREEC Gikeitito

g1

(1) <0-99 =ix 3fgy

(4 THdl 2R B

(3) iferan 3R frhem

@ TEPES o AT

(5) I & < ARy

frfefaa 4 4 fras 3ae 4 He o v foma
S ?

(1)  ieEsH

(2) ZoEEA

(@) FESHENE
(4) =R

(5) I Tl &A1 =R |

20.

21.

22.

23.

24,

The SI unit of mass is :

(1) kilogram

(2)  pound

(3) ounce

(4) gram

(5) Not Attempted

Hepatitis ‘A’ is caused by :
(1) Virus

(2)  Fungi

(3)  Protozoa

(4) Bacteria

(5) Not Attempted

Match the following :

(I) (I)
(A) Lamina (I) Weak stem
(B) Petal (I})  Ovary
() Pistil (ITT)  Leaf

(D) Creeper (Iv)

(1) (A)-(m), (B)-(1), (O)-(1), (D)-IV)
(@) (A)-V), (B)-(1), (C)-(111), (D)-(1)
(3 (A)-), (B)-(II), (C)-(Iv), (D)-(1)
4 (A)-a1), (B)-aV), (O)-(1), (D)-()
(5) Not Attempted

Flower

and

are water borne
diseases.

(1)  Beri-Beri and Dysentery
(2)  Scurvy and Cholera

(3)  Polio and Rickets

(4)  Typhoid and Meningitis
(5) Not Attempted

Yeast is used in the production of :
(1) Oxygen

(2)  Alcohol

(3)  Hydrochloric Acid

(4) Sugar

(5) Not Attempted

% 1 o feTu Zene / SPACE FOR ROUGH WORK
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25.

26.

27.

28.

29.

VNATH / E1

T S T 2§ e HAe F1 gl woay
#1 qm oin oo & A PR g0 A2
(1) 25 FdHRR

(2) 50 H3HI
@ 75 "I
(4) 100 TIAHR

(5) SRS <A1 9ed |

(1) o :

(2) dFuiad
(3) TEF HIH
@ T

(5) IR &l <1 9T8d |

F gfEar § S & Ao e fRdl

25.

26.

27.

28.

29.

A boy is standing at a distance of 50 cm from
the plane mirror. What will be the distance
between the mirror and the image ?

(1) 26c¢m
(2) 50cm
(8) 7oem
(4) 100 cm

(50 Not Attempted

Which of the following ijs not a terr

habitat ?

(1) Desert

(2) Rainforest

(3) Grassland

(4) Pond

(5) Not Attempted
ransfer of heat by

No medium is required for t
the process of :

(1) Conduction

(2) Convection

(3) Transpiration
(4) Radiation

(5) Not Attempted

T

Earthworms*breathe through the1r

(1)
(2)
(3) %
()=l e ———
(5) Not Attempted

R y

Which of the following is not the characteristic !
of fish ? &
(1)  Presence of gills i

(2) Long ‘backbone with cylmdrlca‘l body

(3) Head and tail smaller than
portion of the body.

(4)  Presence of fins
(5) Not Attempted

ey F1 ATl Tel oidl o |
(1) =
@ T
(3)  SrSEREsH
4) fafeza
(5) ST &1 <1 e |
o FHF T § vorE T € |
) -
(2) TEES
3 T
(@ TS
(5) =7 21 &1 =red |
ﬁﬁmﬁﬁgaﬁq;ﬁ ;(”aﬁﬁmmﬂﬁ%7
(1) et %1 SAEAA
) et g 1 7 A AT
& Wiqgﬂ‘mﬁwﬁmtaﬁirg@m
s B Ea el '
) s () 7 T
& s T

o @ & fere 2enret / SPACE FOR ROUGH WORK




30. W F1 5% qUvd F Feena € f5ad agsi

diesht gae Ia F970 T § 2
(1)  ufafe=an emgar

@ T

(3) Fetaa

(4) SeIhdl

(5) ST &l o =ed |

31. faug &1 9979 sif9u :

(1) TSR

(2) 3

(3) =ERRX
S

(5) S TE < 9|

32. a‘rmﬁhwﬁ:aﬁa‘rﬁmﬁlaﬂ?nﬁqﬂqﬁnﬁq
T FHA ] FS A AR Y G [ e
ﬁaéazﬁqu?ﬁasﬁﬁ,ﬁvhaﬁ%aﬁw—m/ﬁ
ﬁmmmmﬁ%mwaﬁﬁmmﬁﬁm
EARETSG R
CXOL
T4 FHE FHE |
TP FAETIAFE |
ey .

L B4 991 EaE T 2

I F3FdIAAaE]

(1) =ad fe=d 11 FFea 2

(2) fred 1 2R 1 2T e ¥
(& A e 1 3w = 2 1 feea g
(4)  Fae frepd | e &)

(5) I AE <1 | |

30.

31.

32.

The property of metals by which they ...
beaten into thin sheets is called - by

(1) Reactivity
(2) Ductility

(3) Malleability
(4) Conductivity

(5) Not Attempted

Find the odd one out -
(1) Carrot

(2) Potato

(3) Tomato

(4)  Ginger

(5)  Not Attempted

Two statements are given, followed by twe
conclusions I and II. Assuming th,
statements to be true even if they seem to b
at variance from the commonly known facts
decide which of the conclusions logicall
follow/follows from the given statements.

Statements :

All animals are dogs.

Some dogs are dangerous.

Conclusions :

I All animals are dangerous.

II. Some dogs are animals.

(1)  Only Conclusion II follows.

(2)  Both Conclusions I and II follow.
(3)  Neither Conclusion I nor II follows.
(4)  Only Conclusion I follows.

(5)  Not Attempted

VNATH / E1

¥ &1 o feTu Z2imet / SPACE FOR ROUGH WORK
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33.

33. =T uw f iy S

f@n s & o <t ‘i ‘COVET’ 1 FRYHW:

H HIDE® 3 71 Ferer

S 2

W) KLGH COVE ¥
(2)  KLEI

(3) KGEF

(4) KLEF

(5) W TE I = mw=y

34. ?TFQ‘Q’, ‘R’a;'ﬂﬂiaqimmg e
TR Heifera &2 g A Q, R A g
(1)  =m=n/|m € Q
L) =
@4
(5) ST TR < =ed |
35. 9 s 1ERl % 9HE 1 seatedd s | e
£ demst F 39 S @ w9 w S
el 1 AT FH T F T IR A | :
C P K T o E ‘
. 2 - 3o T O
(1) 2,1,5,3, 088
M 2,5,_1,3,6,4
3) 4,1,5,2,3,6
4) 3,5 1,426
(5) < & &A1 = |
36. aﬁﬁﬁaﬁﬁzsmﬂw%ﬁmqﬁ%ﬁ
fapay HTEAAR T 7
@ 3
v 4
@ ©
4 3

VNATH / E1

34.

35.

36.

T O

-

If in a certa
‘FRYHW’ then

(1)
(2)
3)
(4)
)

If ‘Q’ is bro
‘Q’ related to
(1) |

(2)
3)



37. @ TE @A FHI T GZ A HIAC ;

38.

39.

11 A&y Lo oy iy P

‘d 1'\ i"
(1) 66
(2) 69
@ 72 ;
(4) 65 ;
(5) ST < =R | ¢ L

Y &= A, B, C, D 31 E I H) 3R g F v
ufe o @S T, A Tevas T R s w9
'C), B H TR AR SARA’, F 9 MR A’ ol Dy
SEH G Tl R F g Y e Y

), 6 - e

3) A i

(4) E A @ Q:D E ﬁg’
(5) S T < TR |

T =i S o & e w0k @e ¥ 5 amed
feem & 135° g s %, 3 e <feomee fown 3
90° TE I 1 319 35 e fw fam # §2

(1) SW®
\(}/W-Hﬁaﬂ

— Y
(3) ufv=m

4) g
(5) AR < =R |

s whR e =1 ey g @ &, 3ot vam e
fod Haifuq 22

37.

38.

39.

40.

Find the next term of the series ;

f1 2o Rey 41, 2

(1) 66
2) 69
1] e
4) 65

(5) Not Attempted

Five children A, B, C, D and E are sta:nrl‘mu
a row, facing North but not necessarily in th
same order. ‘C’is to the right of ‘E”and to th,
left of ‘A’. ‘A’ and ‘D’ have one child betwec
them. Who is in the middle of the row ?

W)
(2 B
3 A
(4)

(5) Not Attempted

A man is facing North direction. He turns
135° in anticlock-wise direction, and then 90°

in the clock-wise direction. Which direction
is he facing now ?

(1) ' North
(2)  North-West
(3) West

(4)  North-East
(5)  Not Attempted

Kilometer is related to Distance in the same
way as Newton is related to :

(1) Density

Force



41. Wémaﬂﬁmmwnqm

Ifg = X

Wwa&% TAEA 792 w1t Adhfrex & Ay
mﬂmmmﬁﬁtﬁaﬁ)ﬁm; |
) 5244

5544
5306
ST

ST S = |

42.

—29
S Tel <A1 =ed |

e FEI H A, B § 20% HH FE F@ 21 A A
ol =79 =1 7% 21 H q0 F Gha1 T, T B 36 e
=1 frm g g Qs 9@ ?

)

43.

51, He

N\
. y R
2) 6% 95
(3} 61‘2;"12 3 2
4) 54 ;

(5) =T TEI & = |

00 T % 3%,000 FI Y,
4600 # 71 19 H B

st 3

A % an its
i*1 The radius of a cylinder 18 5rfc:clem:::at r;)f the
h(‘ight. I‘f the cusg t?lLtllﬂ the volume€ of
cylinder is 792 cm®
cylinder (in cm?d) is
(1) 5244
(2) 5544
(3) 5306
(4) S i
(5) Not Attempted
42. If45—[28—{37— (15— x)}] =58, then the value
of xis : il
(i 19 g
@) wir 22 B84
(B) 29
(4) =09
-(5) Not Attempted
43. A does 20% less work than B in the same

time. If A can complete a piece of work in
7% hours, then B can do it in :

(1)
(2)
3)
(4)
(5)

5% hours

6 hours

62 hours

5 hours

Not Attempted

44. A and B started a business by investi

Z 22,500 and ¥ 35,000 respectively. Out
total profit of ¥ 27,600, B’s share is :

(1) 14,400

(2) 16,800
(3) 19,200
(4) 10,800

Not Attempted
UGH WORK




L SR
|

et b ol L i, o il e
T&hR - 1] Q?WEFIHW? 20 ufq foremom &1 afg ti\'p(‘,s are mixed in the ratio 2 : 3, then 1y,
1 W & =TEe 2 ;3 W figerran o @), & fago cost price per kg of the mixed variety o Fic
&1 9fa feremm T R L85
a8 {1y eio
@  $16.50 @)  ¥18.80
(38) T 19.50 (3) X 19.50
W 18 ol b g
(5) IR N =R (5)  Not Attempte
. T 122 0% ¥R ew R 46. 1f1+124%=1+~
V' o144 12
o s 1 s
(2) 13 (2) 13
) 17 i
3 1 ()
(5) W& < =R (®)¢  Not Attempted
47. TF 7F 550 T FE 1 ﬁﬂzﬁmm%wﬁﬁ ain A truck covers a distance of 5
x X 1 minute whereas a bus covers 4
U 9% 33 . = R 45 firfe 3 RRECIE] . 33 kms in 45 minutes, The ratio
F1 T = I g EERIGES of the truck to the speed of the by
(1) 4:3 (1) | (8
(2) 3:5 @ &b
8) 5:3 Bl 5:8
4 3:4 4)y3vq
(5) W T = =Ry | (5)  Not Attempted
48. T FEWs H HOR 28 T 3R I LCM 336 & | 48. The HCF of two numbers is 28 and their L
A uF Hem 112 £ A T B - lnsuiiggérliio:ne number is 112, then the ot
W 64 ) ek
(2) 84 @) 84
S 3) 92
o 3 _ \ 4) 34
5) 397 < =ea (5)  Not Attempteq
VNATH /E1

¥ BT & fe1u 2er1et | SPACE FOR ROUGH WoRe —————
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=Y

52. 17 &l H1 T 720 H 999 W, 5 Wal & HI goq % | 52 gqr]tlzsllf:l:i)n%hl-.?cz::]?)rf?cre?0325(););?12(. IH.
e B Bl 1 U NS H HA oA © price of one ball is : '
(1) T50 (1) 50
2) 55 @) 255
(3) 60 3) %60
(4 T45 @) Z4s
(5) ST & A (5)  Not Attempted
S3. 3mma@maﬂz4mm@a@m 53. The greatest number which divides the
I fawierd T3 et T 9 v § - greatest 3-digit number and the greaTei‘
a7 4-digit number, exactly is :
2 8 ()l
3 9 (2) 8
4 3 (3)9
(5) SR =R | ()i
(5) Not Attempted
54. VTS : 3% S| AR Hm A 125 7,
@ 3 Fed F - 54. Two numbers are in the ratio 2 : 3. If the
(1) 32,78 sum is 125, then the numbers are :
2) 50,75 (s 1321 7.8
3) 24,36 Q' 50, 75
(4) 20,30 (3) 24,36
(5) I AR <A =ed | (4) 20,30
(5) Not Attempted
55. e forell < ¥ ol 1 crvaré e e s
25 I T4 168 o et &, f s ) et o | g If the length of the diagonal and the area of
& rectangle are 25 m and 168 m?2 respectivel
then the longer side of the rectangle is :
(1) 017 e
(2) 24 T (3) . 24 m
(3) 31 3) 31m
(4) 12 =, 4 12m
(5) I T <A =R | (5)  Not Attempted
VNATH / E1
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Choose the correctly spelt word.

56.
(W humorous
(2) humoros
(3) humarous
(4) humorus
(5) Not Attempted
57. Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was
a white elephant
(1) useless
(2) very comfortable
(3) 1 collapsing
g very large
(5) Not Attempted
58. Find out the antonym of frequent’.
(1) return
(2) fear
(3) alarm
(4) rare

(5) Not Attempted

Find out the synonym of the underlined word

59.
in the following sentence.
To travel hopefully is a better thing than to
arrive, and the true success is to labour.
(1) positively
(2) negligence
d) carelessly
(4) rationally
(5) Not Attempted
50. Pick out the part of the sentence which has an

error. If there is no error, your answer is (3).

This is the third communication I have sent /

(A)

and 1 am much surprised /
(B)

at receiving no answer .
(C)

() (B

2 (©)

(3) No error

4) (A

(5) Not Attempted

VNATH/E1 % B o fe1u ZTE

61.

62.

63.

Fill in the blank with suitable alternative.
You will not overtake him unless you
Q/f walk quickly

(2) play
(3) reading
(4) sleep

(5) Not Attempted

In the following question, the first and the last
part of the sentence are numbered S; & Sg.
The rest of the sentence is split into four parts
and named P, Q, R and S. These four parts are
jumbled. Re-arrange them in correct order.
S; - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

S - education and vocation training

(‘3’{ QPSR
2) RQPS
(3) | SORE
4) PQRS

(5) Not Attempted

Choose the alternative,
the given sentence if
The accountant

customer. j
(1) The chedi

(2)
Ry
4)

(5) Notﬁ



70. '3 YOM % AN T G4 AN IoE TE 7
speech. (1) aF
Shakti said to his friend, “Look out! There is
a snake behind you”. W afr
U)’? Shakti exclaimed to his friend with (3) TEH
surprise that there could be a snake (4)
behind him. (5) I TR & =
(2) Seeing a snake behind him, Shakti b
asked his friend to look out. 71, 'Tesmen’ & Am G a9 e gaifs T o
(3) Shakti warned his friend that there was e “ i
a snake behind him.
(4) Shakti told his friend to look out as (L el
there is a snake behind him. () fren
(5) Not Attempted (3)  femm
66. T R e ¥ oree w1 g s AE 2 (4) ﬁ::‘mﬂ'
(2) =i AW R 72. FHFA-H1 A oY R F IR S
(3) WU § YU HH A W) (1) wﬁfﬁ?ﬁ@é‘r@ﬁfw
(4) T SR e o HR e (2)  =ferr st s
(5) S| TE <1 =R | (B) HY B WA R
. . 4 . W T ER e
or. W W%'%mem (5) A =
:;?”“ms o 73. 'FeRfed A o T 45 I 7’ s
g T 9 S §
o (1) STV STeHR
(3) =&Ef ©f ==k R
@) e (8)  HSIhIU TR T
(5) I T & =R | (4) ST STEHR H
68. fou Tu fobm fored & ol o g wU R 2 (5) ST A = |
(1), Z=Ed 74. 59 T H 9Een 9 wuE @, W T § -
2 T (1) wEsife
(3) Hw @ fau
4) SfgEm ) ;3""1'“""'
5) I E 2 =R (4) bl
‘( ) Ders i (5) SR TR < AR |
69. ;ﬁwﬁamm HerE &1 aifeesd 397 1o 75. T i K F i 2 e’ e e o
i o TF TR -
(1) 2699 = & 999 FHE| W TR
(@) AIH F o T«JFH | 2 T
(3) ufaa 5 9 219 9| 3) TrE
(4) @Ay 3= (4)  Tyfa
(5) IR TRl A1 Hwed | (5) IR S = |
VNATH/E1 % &1 o feTu 22Imel / SPACE FOR ROUGH WORK

Change the following sentence into indirect




76. Frfefad sl 92 o i 76.
(A) o1 Aifed TEEI ST H B
B) 7 Tifes TEEN SR TG & d2 W
Wﬁﬁﬁ?-m/ﬁa??ﬂﬂﬂ?/%?
(1) &ac (B)
2 (A B I
3 ATA AR A€ (B)
(4) Fad (A)
(5) < 7 & T
77. mmmﬁmimmqﬁwwm !
T ? ;
1y “EHE
s EE
(3 ERET®
(4) @RE®
(5) TR el o 9 |
(/e,/ mﬁq@mﬁmmmmﬂwmmﬁ =
&1 I § 7
(1) =
@ ¥
(3 =
) i
(5) I AR« e | i
79. mmwv@(mmﬁ)%ﬁ*ﬁﬁﬁﬁf@ﬁﬁ
& 2 T T E 7
(A) mmﬁmmﬁg@mmﬁéu
(B) mwﬁﬁmﬁﬁﬂm%ﬁm*ﬁﬂﬁl
zqvi—aaﬁﬁ#m-m/ﬁmmﬂﬁ%/%‘?
(1) FF(B)
@ () R (B) S
(3) A (A) ARAE (B)
(4) A (A)
(5) IR ARl & e |

VNATH/E1

36 w1 o fero el / SPACE,

Consider the following statemernts
(A) Nada Sahib Gurudwara 1s situated 1n
Ambala.
(B) Nada Sahib Gurudwara 18 situated on
the bank of river Ghaggar.

Which of the above statements is/are
correct ?

(1) (B)only

(2) Both (A) and (B)

(3) Neither (A) nor (B)

(4) (A)only

(5) Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Bahudhanyakya

(2) Hariyala

(3) Haryanak

4) Haribanak

(5) Not Attempted

Boojali, an ornament is worn in

the body by women in Haryad

(1) Forehead

(2)  Foot

(3)  Nose

(4) = Ears

(5) - Not Attempig

(B)
Which of t
correct ?
(1)
(2)

(3)




go. T =vdt fopg @a & fou ufag 82

81.

82.

83.

(1) =g

Ry Fw

(3)  drETst

(@) S

(5) W TE < IR |

Tehe! T4 HYe] 3 (57 T8 €t i) & s A Frefafaa

mwﬁaﬂaﬂfﬁq

A) FEMHF A WS RTRRFR @S RY
afyes B

B) USEH T WS TR E A TS Y
i § 1

ST § ¥ SH-91/Q o w2

(1) 9d (B)

(2) (A) R (B) A

(3) AT (A) IARFAF (B)

(4) Id (A)

(5) SR TE < =R |

ffeiiEd 4 § %1 3R F 9iE w96 S9eH

IESIEE-R o R,
(1) €

(2) T
(3) W
(4) T

(5) IR <A =R |

o e § urd™ g e favafemmer feed €2
(1) T=aH

(2) TweER
(3) FHEA
(4) TEFT

(5) AL Al <A1 A |

VNATH / E1

80.

81.

82.

83.

yarima Chaudhary is well known for
sport ?

(1) Kabaddi

(2) Wrestling

(3) Archery

(4) Judo

(5) Not Attempted

Consider the following statements about ¢,
State Domestic Product (GSDP) :

(A) GSDP of Haryana is more than th; ,
Bihar.

(B) GSDP of Punjab is more than ths:,
Haryana.

Which of the above statements is/;;
correct ?

(1)  (B)only

(2) Both (A)and (B)

(3) Neither (A) nor (B)
(4)  (A) only

(5) Not Attempted

Which one of the following is not amongst
major cotton growing districts of Haryana*

(1)  Sonipat

(2) Ambala
(3)....Rewari
(4) Sirsa

(5)  Not Attempted

In which district is the Indian Natiot
Defence University located ?

(1) Gurugram

(2)  Faridabad

(3) Karnal

(4)  Panchkula

(5)  Not Attempted




84. TfafEs 3 frgy
BRETM Y e | s "
q Z H | 84. Who amongst the followin

85.

86.

38.

VNATH / E1

T ——

g did not play for

& @ o ?
(1) higst 2 Haryana in Ranji Trophy ?
(2) U< s (1) Kapil Dev
(3) PR IoER (2)  Rajinder Goel
(4) == fg (3) Sarkar Talwar
(4) Maninder Singh

9 3L
(5) el <1 ==y | (5] Not Attempted

85. In which month of the y€ay

o ¥ fFe 'R ¥ yfug g
sfamm A S ®? B 1 ST Surajkund mela is
("U/ S : Haryana ?

2 e (1) Dece@b v

3) =R g,: o

(4) T )

(5) SR oA = |

T forg T59 & S @ 2

(1) ==

(2) U9

(3) THES

(4) ST

(5) SR el & =R |
it rferetier T AT g TR 3 e

pescl

o & g e e e e 4
fapam T € 2 |
(1) 3

[2) %

3) S

4) 2

(5) Wﬂﬁéﬂ
Wfaﬂ:{ﬁiﬁﬁﬁ”ﬂ%?

(1) FIA

(2) He=1%

(3) Teded

4 &< |

(5) Wqﬁﬁ 4



i oA % foru yfead &
- TRIeTE TATT 14 €, U eier @ fis faved vérarg
¥, TEU TAd HA-H1§ 2

(1) TSR W
(2) 3T HEIS
(3) g wRITE
(4) Tau HEeEs
(5) I AR < AR |
90. fr=fefEa # & #19 efEmm w3 =1 wtero, 59 ik
EREICER:Ci )
(1) it Fer 9IS
(2) & 9 5% ot
(3) S TFT Seren
(4) &1 o1 faw
(5) I TR <A ==«
L ﬁmﬁ@ﬁqm%‘s’ﬁamwmqa%?
(1) ofe= ek
(2) =Y
(3) WIEF I
¥ TR w gy
(5) = @l e =weq |

92. ﬁmﬁa@mﬁﬂxﬁwﬁﬁm;

(A) IR R S 7w feeeh % wrer ey
z

(B) mﬁﬁmﬁﬁ@qﬁw%l

SR H A AT w3

(1) =4 (B)

(2)  (A) ¥R (B) ZFi

(3) A (A) FRAE (B)

(3)  Neither (A) nor (B)
(4)  F9 (A) (4)  (A) only
(5) 3 T & =Ed | () Not Attempte
VNATH/E1

89,

90.

91.

92.

. f Pinjore
ritage O n ’
5 Heyear. One 18 the
hiCh is the SEeCconq

To promote the anmle ik
two festivals are hel(’ el",w
‘Pinjore Heritage festival;
one ?

(1) Dates festival

(2) Mango festival
(3) Lemon festival
(4)  Orange festival

(5)  Not Attempted

ing is the Minister of
Who among the following 1s th -
Environment, Forests and Wildlife of Haryana
State ?

(1)  Shree Kanwar Pal

(2)  Shree Mool Chand Sharma
(3) Shree Dushyant Chautala
(4)  Shree Anil Vij

(5)  Not Attempted

Which amongst the following is the State Tree
of Haryana ?

(1)  Sacred Fig

(2)  Mango Tree
(3) Sal Tree

(4): Banyan Tree

(S)" "Not Attempted

Consider the following statements :

(A)  Sonipat and Jhajjar share border with
Delhi.

Statements is/are
correct ? .
(1) (B) only
(2) Both (A) and (B)

% BT & fe10 2211 | SPAGE FOR ROUGH w(




93. HEIHIS "HEMRG' ¥ Tafiar gy §9 . Who was tH
FHiferary (1) Ka
e Sreddify (2)
e STy %)
e .

ﬁ'ﬂ?ﬁﬁf@ammﬁﬁnﬁﬁq:
(A)  TEE H qfer strsaTe fem &)
B)  HHd & qfera smeerer fe
ST -1/ e Ol i
(1) 54 (B)

(A) 3R (B) S

T (A) AR AT (B)

Fad (A)

fag T4 2022-23 F g, T
(1) 6.2%

(2) 8.5%

(3) 5.8%

(4) 14.2%

(5) I E & e

¢ 3z =ieg wfen 1
(1)
(2)

(3)

(4)

(5)
VNATH/E1




: i~taq are there 1n H;:
many districts &r Tyan;

o7, wfamn & fred o ¥ 2 g7. How
(1) 22 () 22
® 23 (&), s
(3) 24 (3) 24
(4) 21 @ 21
(5) I TE < AwA | (5) Not Attempted

f the following dance forms of Har.

o8, freifafEs § & gfamn & FH-9 9 It ot | 98. Which o
h Mewati tribe ?

is associated wit

I Y TG § 7
MRRCEE (1) Ratvai
R wm (2) Phag
(3) T (3) Gugea
@) Y (4) Dhamal
P . (5) N Attempted
99. A 7= # U= 91 & fohaHl Hie €2 i E:\\Ze I'.?any e o P
(1) 7
1)
(2 6 £
u (2)6
M 5
4 8 G
()8

(5) =@ < 9Rd |
(5)  Not Attempted

100. 3fen i i ey i A
e s 2fEmn ¥ faa

forel 3 %2 100. Indi -

" S R
(2) / TeHm

(3)" TS

(4) ==K
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